Exercises

E8.2.10 [0n7] Topics:boundary. Let A C X. Let’s remember the definition
of boundary 0A = A\ A° .Note that A is closed: indeed setting B = A°
to be the complement, it is easily verified that 0A = ANB. In particular
we showed that 0A = 0B.

Show that the three sets dA, A°, B° are disjoint, and that their union
is X; in particular, show that the three sets are characterized by these
three properties:

+ Each neighborhood of x intersects both A and B;
+ there exists a neighborhood x contained in A;

» there exists a neighborhood x contained in B.
(See also rog31 for the case of metric spaces).
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